t16_group_2
(TMXD2iJKQ1QhCEyLhz5sMQsJLLBwY pzeifj)

October 27, 2020

Let v2_struct-0 : t=-0 be given. Let [3_algstr 0 : =0 be given. Let
ml_subset_1 : t=-1=>0 be given. Let k1_zfmisc_1 : .=t be given. Let ul_struct_0 :
1=t be given. Let k2_group_2 : 1=>1=-1=1 be given. Let kl_subset_1 : 1=-1 be
given. Let k1_xboole 0 : ¢t be given. Assume the following.

VX0.((—v2_struct_0 X0)A(I13-algstr0 X0))=(vX1.
(ml_subset-1 X1 (kl_zfmisc-1 (ul_struct-0 X0)))=(VX2.
(ml_subset1 X2 (kl_zfmisc_1 (ul_struct-0 X0)))=(((X1#£k1l_xboole_0)A
(X2+#k1 _xboole 0))&(k2_group2 X0 X1 X2+#k1_xboole 0))))

Assume the following. W
VX0.m1_subset_1 (kl_subset_-1 X0) (kl-zfmisc_1 X0) (2)

Assume the following.
VX0.k1_subset 1 X0 = k1_xboole_0 (3)

Theorem 1

VX0.((—v2_struct_0 X0)A(I13_algstr 0 X0))=(VX1.
(ml_subset-1 X1 (kl_zfmisc_1 (ul_struct.0 X0)))=((k2_group-2
X0 (kl_subset_1 (ul_struct-0 X0)) X1 = kl_xboole_0)A(k2_group-2
X0 X1 (kl_subset_1 (ul_struct_.0 X0)) = k1_xzboole.0)))



